


Why don't polar bears eat
penguins?




Why don't polar bears eat
penguins?
Because they can't get the

wrappers off.




What is the difference between a
fireman and a soldier?




What is the difference between a
fireman and a soldier?
You can't dip a fireman in your

€gqg.




What do you get if you cross a
sheep with a kangaroo?




What do you get if you cross a
sheep with a kangaroo?
A woolly jumper.




Why do cows have bells?




Why do cows have bells?
Because their horns don't work




Why can't a car play football?




Why can't a car play football?
Because it has only got one boot.




Why wasn't Cinderella allowed to
be in the football team?




Why wasn't Cinderella allowed to
be in the football team?
Because she always runs away

from the ball.




Why don't aliens like Pop Idol?




Why don't aliens like Pop Idol?
Because there's enough stars in

space already.










Homonyms

Write a sentence for each of the meanings of
these homonyms.

e.g. wave
Mum gave her son a wave. fl-l-

light
flat

Sam jumped over the wave.

Jam

bow

wind




Extra words to try:

letter

leaves

dear

grate

table

shap

lead

book

gum




